

# Best Constants for the Inequalities between Equivalent Norms in Orlicz Spaces

by

Ha Huy BANG, Nguyen Van HOANG and Vu Nhat HUY

*Presented by Stanisław KWAPIEŃ*

*Dedicated to academician S. M. Nikol'skii  
on the occasion of his 105th birthday*

**Summary.** We investigate best constants for inequalities between the Orlicz norm and Luxemburg norm in Orlicz spaces.

**1. Introduction.** Let  $G = \mathbb{R}$  or  $\mathbb{R}^+$ , and  $\Phi : [0, \infty) \rightarrow [0, \infty)$  be an arbitrary Orlicz function (i.e.,  $\Phi$  is convex and vanishes only at zero). It is well-known that in Orlicz spaces  $L_\Phi(G)$ , the Orlicz norm  $\|\cdot\|_{\Phi,G}$  and the Luxemburg norm  $\|\cdot\|_{(\Phi,G)}$ , to be defined below, are equivalent and satisfy

$$\|f\|_{(\Phi,G)} \leq \|f\|_{\Phi,G} \leq 2\|f\|_{(\Phi,G)} \quad \text{for all } f \in L_\Phi(G).$$

In this paper we investigate the best constants in these inequalities. Note that Lebesgue spaces and their extensions, Orlicz spaces, play an important role in analysis and have many applications (see [1–8]).

Denote by

$$\bar{\Phi}(t) = \sup_{s \geq 0} \{ts - \Phi(s)\}$$

the Young function conjugate to  $\Phi$ , and  $L_{\bar{\Phi}}(G)$  be the Orlicz function space over the Lebesgue measure space  $(G, \Sigma, m)$ , i.e., the space of all measurable functions  $u$  such that

$$|\langle u, v \rangle| = \left| \int_G u(x)v(x) dx \right| < \infty \quad \forall v : \rho(v, \bar{\Phi}) < \infty,$$

---

2010 *Mathematics Subject Classification:* Primary 46E30.

*Key words and phrases:* Orlicz spaces.

where

$$\rho(v, \bar{\Phi}) = \int_G \bar{\Phi}(|v(x)|) dx.$$

Then  $L_{\bar{\Phi}}(G)$  is a Banach space with respect to the Orlicz norm

$$\|u\|_{\bar{\Phi}, G} = \sup_{\rho(v, \bar{\Phi}) \leq 1} \left| \int_G u(x)v(x) dx \right|,$$

as well as the Luxemburg norm

$$\|f\|_{(\bar{\Phi}, G)} = \inf \left\{ \lambda > 0 : \int_G \bar{\Phi}(|f(x)|/\lambda) dx \leq 1 \right\} < \infty.$$

Recall that  $\|\cdot\|_{(\bar{\Phi}, G)} = \|\cdot\|_{L_p(G)}$  where  $\bar{\Phi}(t) = t^p$  with  $1 \leq p < \infty$ , and that an Orlicz function  $\bar{\Phi} : [0, \infty) \rightarrow [0, \infty)$  is called an  $N$ -function if  $\lim_{t \rightarrow 0} \bar{\Phi}(t)/t = 0$  and  $\lim_{t \rightarrow \infty} \bar{\Phi}(t)/t = \infty$ .

We need the following results:

**THEOREM A ([7]).** *Let  $\bar{\Phi}$  be an  $N$ -function. Then*

$$\|f\|_{\bar{\Phi}, G} = \inf_{t > 0} \frac{1}{t} \left( 1 + \int_G \bar{\Phi}(t|f(x)|) dx \right).$$

**YOUNG'S INEQUALITY.** *Let  $\bar{\Phi}$  be an  $N$ -function. Then*

$$xy \leq \bar{\Phi}(x) + \bar{\Phi}(y) \quad \forall x, y \geq 0,$$

and equality holds iff  $y \in [\psi(x), \eta(x)]$ , where  $\psi, \eta$  are the left and right derivatives of  $\bar{\Phi}$ .

**2. Main results.** Suppose that  $C_1$  is the largest number and  $C_2$  the smallest number such that

$$C_1 \|f\|_{(\bar{\Phi}, G)} \leq \|f\|_{\bar{\Phi}, G} \leq C_2 \|f\|_{(\bar{\Phi}, G)} \quad \text{for all } f \in L_{\bar{\Phi}}(G).$$

Let  $\bar{\Phi}$  be an  $N$ -function. It is well known that the Orlicz norm has the Fatou property, that is, if  $0 \leq f_n \leq f \in L_{\bar{\Phi}}(G)$  then  $\|f_n\|_{\bar{\Phi}, G} \rightarrow \|f\|_{\bar{\Phi}, G}$  whenever  $f_n \rightarrow f$  a.e. Hence,

$$(1) \quad C_1 = \inf \{ \|f\|_{\bar{\Phi}, G} : f \in A \}, \quad C_2 = \sup \{ \|f\|_{\bar{\Phi}, G} : f \in A \},$$

where  $A$  is the set of all simple functions  $f \in L_{\bar{\Phi}}(G)$  satisfying  $\|f\|_{(\bar{\Phi}, G)} = 1$ . So,  $1 \leq C_1 \leq C_2 \leq 2$ . For  $t \geq 0$  we define

$$(2) \quad H(t) = \sup_{x > 0} \frac{\bar{\Phi}(tx)}{\bar{\Phi}(x)}, \quad D(t) = \inf_{x > 0} \frac{\bar{\Phi}(tx)}{\bar{\Phi}(x)}.$$

Clearly, the functions  $D(t), H(t)$  are increasing,  $D(t) \leq H(t) \leq t$  for any  $0 \leq t \leq 1$  and  $t \leq D(t) \leq H(t)$  for any  $t > 1$ . In this paper, we denote by  $f^{-1}$  the inverse function of  $f$ .

We have the following theorem.

THEOREM 1. Let  $\Phi$  be an N-function. Then

$$(3) \quad C_1 = \inf_{t>0} \frac{1}{t} \bar{\Phi}^{-1}(t) \Phi^{-1}(t) = \inf_{t>0} \frac{1 + D(t)}{t}.$$

*Proof.* Since  $\Phi$  is an N-function,  $\Phi(x)$  is strictly increasing and  $\bar{\Phi}^{-1}(x)$  is well defined. From (2) we have

$$(4) \quad D(t) = \inf_{x>0} \frac{\Phi(t\Phi^{-1}(x))}{x}.$$

Then it follows from Young's inequality that

$$\begin{aligned} \frac{1}{t}(1 + D(t)) &= \frac{1}{t} \left( 1 + \inf_{x>0} \frac{\Phi(t\Phi^{-1}(x))}{x} \right) = \inf_{x>0} \frac{1}{t} \frac{\bar{\Phi}(\bar{\Phi}^{-1}(x)) + \Phi(t\Phi^{-1}(x))}{x} \\ &\geq \inf_{x>0} \frac{\bar{\Phi}^{-1}(x)t\Phi^{-1}(x)}{tx} = \inf_{x>0} \frac{1}{x} \Phi^{-1}(x) \bar{\Phi}^{-1}(x). \end{aligned}$$

Therefore,

$$(5) \quad \inf_{t>0} \frac{1}{t}(1 + D(t)) \geq \inf_{x>0} \frac{1}{x} \Phi^{-1}(x) \bar{\Phi}^{-1}(x).$$

For each  $x > 0$ , we choose  $t > 0$  satisfying  $t\Phi^{-1}(x) = \varphi(\bar{\Phi}^{-1}(x))$ , where  $\varphi$  is the left derivative of  $\bar{\Phi}$ . Then, from (4) and Young's equality, we obtain

$$1 + D(t) \leq 1 + \frac{\Phi(t\Phi^{-1}(x))}{x} = \frac{\Phi(t\Phi^{-1}(x)) + \bar{\Phi}(\bar{\Phi}^{-1}(x))}{x} = \frac{t\Phi^{-1}(x)\bar{\Phi}^{-1}(x)}{x}.$$

Hence,

$$(6) \quad \inf_{t>0} \frac{1}{t}(1 + D(t)) \leq \inf_{x>0} \frac{1}{x} \Phi^{-1}(x) \bar{\Phi}^{-1}(x).$$

From (5) and (6), we have

$$(7) \quad \inf_{t>0} \frac{1}{t}(1 + D(t)) = \inf_{x>0} \frac{1}{x} \Phi^{-1}(x) \bar{\Phi}^{-1}(x).$$

It is known that if  $f \in L_\Phi(G)$  is a simple function and  $\|f\|_{(\Phi,G)} = 1$  then

$$\int_G \bar{\Phi}(|f(x)|) dx = 1.$$

Therefore, it follows from Theorem A that

$$\begin{aligned} \|f\|_{\Phi,G} &= \inf \left\{ \frac{1}{t} \left( 1 + \int_G \bar{\Phi}(t|f(x)|) dx \right) : t > 0 \right\} \\ &\geq \inf \left\{ \frac{1}{t} \left( 1 + D(t) \int_G \bar{\Phi}(|f(x)|) dx \right) : t > 0 \right\} = \inf_{t>0} \frac{1 + D(t)}{t}, \end{aligned}$$

which together with (1) implies

$$(8) \quad C_1 \geq \inf_{t>0} \frac{1 + D(t)}{t}.$$

For each  $t > 0$ , we define  $h(x) = \chi_{(0,1/t)}(x)$ . Clearly,  $\|h\|_{(\Phi,G)} = 1/\Phi^{-1}(t)$  and it follows from Young's equality and Theorem A that

$$\begin{aligned} \|h\|_{\Phi,G} &= \inf_{k>0} \frac{1}{k} \left( 1 + \frac{1}{t} \Phi(k) \right) \leq \frac{1}{\varphi(\bar{\Phi}^{-1}(t))} \left( 1 + \frac{1}{t} \Phi(\varphi(\bar{\Phi}^{-1}(t))) \right) \\ &= \frac{1}{t} \frac{t + \Phi(\varphi(\bar{\Phi}^{-1}(t)))}{\varphi(\bar{\Phi}^{-1}(t))} = \frac{1}{t} \frac{\bar{\Phi}(\bar{\Phi}^{-1}(t)) + \Phi(\varphi(\bar{\Phi}^{-1}(t)))}{\varphi(\bar{\Phi}^{-1}(t))} = \frac{1}{t} \bar{\Phi}^{-1}(t). \end{aligned}$$

Hence,

$$C_1 \leq \frac{1}{t} \bar{\Phi}^{-1}(t) \Phi^{-1}(t) \quad \forall t > 0,$$

which implies

$$(9) \quad C_1 \leq \inf_{t>0} \frac{1}{t} \bar{\Phi}^{-1}(t) \bar{\Phi}^{-1}(t).$$

Combining (7)–(9), we obtain (3). The proof is complete. ■

**THEOREM 2.** *Let  $\Phi$  be an  $N$ -function. Then*

$$(10) \quad C_2 \leq \inf_{t>0} \frac{1 + H(t)}{t}$$

and

$$(11) \quad \sup_{t>0} \frac{1}{t} \bar{\Phi}^{-1}(t) \Phi^{-1}(t) \leq C_2.$$

*Proof.* Let  $f \in L_\Phi(G)$  be a simple function satisfying  $\|f\|_{(\Phi,G)} = 1$ . Then

$$\int_G \Phi(|f(x)|) dx = 1.$$

Therefore, it follows from Theorem A that

$$\begin{aligned} \|f\|_{\Phi,G} &\leq \frac{1}{t} \left( 1 + \int_G \Phi(t|f(x)|) dx \right) \\ &\leq \frac{1}{t} \left( 1 + H(t) \int_G \Phi(|f(x)|) dx \right) = \frac{1 + H(t)}{t} \quad \forall t > 0. \end{aligned}$$

So, by (1) we obtain

$$C_2 \leq \inf_{t>0} \frac{1 + H(t)}{t}.$$

For each  $t > 0$ , we put  $h(x) = \chi_{(0,1/t)}(x)$ . Then, clearly,

$$\|h\|_{(\Phi,G)} = \frac{1}{\Phi^{-1}(t)} \quad \text{and} \quad \|h\|_{\Phi,G} = \inf_{k>0} \frac{1}{k} \left( 1 + \frac{1}{t} \Phi(k) \right) = \frac{1}{t} \bar{\Phi}^{-1}(t).$$

Hence,

$$C_2 \geq \frac{\|h\|_{\Phi,G}}{\|h\|_{(\Phi,G)}} = \frac{1}{t} \bar{\Phi}^{-1}(t) \Phi^{-1}(t) \quad \forall t > 0,$$

which gives

$$C_2 \geq \sup_{t>0} \frac{1}{t} \Phi^{-1}(t) \bar{\Phi}^{-1}(t).$$

The proof is complete. ■

Recall that an Orlicz function  $\Phi$  satisfies the  $\Delta_2$ -condition (we write  $\Phi \in \Delta_2$ ) if there exists  $C > 0$  such that  $\Phi(2t) \leq C\Phi(t)$  for all  $t > 0$ , and  $\Phi$  satisfies the  $\nabla_2$ -condition (we write  $\Phi \in \nabla_2$ ) if there exists a number  $l > 1$  such that  $\Phi(x) \leq \frac{1}{2l}\Phi(lx)$  for all  $x \geq 0$ .

**THEOREM B ([7]).** *Let  $\Phi$  be an  $N$ -function. Then the following conditions are equivalent:*

- (i)  $\Phi \in \nabla_2$ .
- (ii) *There exists  $\beta > 1$  such that  $x\psi(x) > \beta\Phi(x)$  for all  $x > 0$ , where  $\psi(x)$  is the left derivative of  $\Phi$ .*
- (iii) *There exist  $l > 1$  and  $\delta_l > 0$  such that  $\Phi(lx) \geq (l + \delta_l)\Phi(x)$  for all  $x > 0$ .*

Now we find conditions so that  $C_1 = 1$  or  $C_2 = 2$ :

**THEOREM 3.** *Let  $\Phi$  be an  $N$ -function. Then  $C_1 > 1$  if and only if  $\Phi \in \Delta_2 \cap \nabla_2$ .*

*Proof. Necessity.* Assume  $C_1 > 1$ . We have to prove that  $\Phi \in \Delta_2 \cap \nabla_2$ . Indeed, assume the contrary, that is,  $\Phi \notin \Delta_2 \cap \nabla_2$ . Then  $\Phi \notin \Delta_2$  or  $\Phi \notin \nabla_2$ . From Theorem 1, we have

$$C_1 = \inf_{t>0} \frac{1 + D(t)}{t}.$$

If  $\Phi \notin \Delta_2$ , there exists a sequence  $\{x_n\}$  of positive numbers such that  $\Phi(x_n) \geq n\Phi(x_n/2)$  for all  $n \in \mathbb{N}$ . Fix  $t \in (0, 1)$  and choose  $n_0 \in \mathbb{N}$  such that  $1/2 \geq t^{n_0}$ . Then for all  $n > n_0$  we have  $\Phi(x_n) \geq n\Phi(x_n/2) \geq n\Phi(t^{n_0}x_n)$ . Then it follows from  $\Phi(t^{n_0}x_n) \geq (D(t))^{n_0}\Phi(x_n)$  that  $1 \geq n(D(t))^{n_0}$  for all  $n > n_0$ , and so  $D(t) = 0$  for all  $t \in (0, 1)$ . Hence,

$$C_1 \leq \inf_{t \in (0,1)} \frac{1 + D(t)}{t} = \inf_{t \in (0,1)} \frac{1}{t} = 1.$$

Therefore, it follows from  $C_1 \geq 1$  that  $C_1 = 1$ .

If  $\Phi \notin \nabla_2$ , it follows from Theorem B that for any  $t > 1$  and  $\delta > 0$  there exists  $x > 0$  such that

$$\Phi(tx) < (t + \delta)\Phi(x).$$

Therefore,

$$D(t) = \inf_{x>0} \frac{\Phi(tx)}{\Phi(x)} \leq t + \delta.$$

Letting  $\delta \rightarrow 0$ , we obtain  $D(t) = t$  for all  $t > 1$ . So we have

$$C_1 \leq \inf_{t>1} \frac{1 + D(t)}{t} = \inf_{t>1} \frac{1 + t}{t} = 1.$$

From this inequality and since  $C_1 \geq 1$ , we get  $C_1 = 1$ , which contradicts  $C_1 > 1$ . So,  $\Phi \in \Delta_2 \cap \nabla_2$  has been proved.

*Sufficiency.* Assume  $\Phi \in \Delta_2 \cap \nabla_2$ ; we have to show  $C_1 > 1$ . Indeed, since  $\Phi \in \Delta_2$ ,  $D(1/2) > 0$ . Since  $\Phi \in \nabla_2$ , there exists  $\beta > 1$  such that

$$\frac{x\psi(x)}{\Phi(x)} > \beta \quad \forall x > 0,$$

where  $\psi$  is the left derivative of  $\Phi$  (see (ii) in Theorem B). Therefore, for all  $t > 1$  we have

$$\ln \frac{\Phi(tx)}{\Phi(x)} = \int_x^{tx} \frac{\psi(y)}{\Phi(y)} dy \geq \int_x^{tx} \frac{\beta}{y} dy = \beta \ln t \quad \forall x > 0.$$

This implies  $D(t) \geq t^\beta$ . Hence,

$$\inf_{t \geq 1} \frac{1 + D(t)}{t} \geq \inf_{t > 1} \frac{1 + t^\beta}{t} > 1.$$

Then it follows from

$$\inf_{1 > t \geq 1/2} \frac{1 + D(t)}{t} \geq \inf_{1 > t \geq 1/2} (1 + D(t)) \geq 1 + D(1/2) > 1$$

and

$$\inf_{1/2 \geq t > 0} \frac{1 + D(t)}{t} \geq 2,$$

that

$$C_1 = \inf_{t > 0} \frac{1 + D(t)}{t} > 1.$$

The proof is complete. ■

**THEOREM 4.** *Let  $\Phi$  be an  $N$ -function and suppose its left derivative  $\psi$  is continuous. Then  $C_2 = 2$  if and only if*

$$(12) \quad \inf_{x>0} \frac{x\psi(x)}{\Phi(x)} \leq 2 \leq \sup_{x>0} \frac{x\psi(x)}{\Phi(x)}.$$

To prove Theorem 4, we need the following result:

**LEMMA 5.** *Let  $\Phi$  be an  $N$ -function with continuous left derivative  $\psi$ , and*

$$H(t) := \sup_{x>0} \frac{\Phi(tx)}{\Phi(x)}, \quad a := \sup_{x>0} \frac{x\psi(x)}{\Phi(x)}, \quad b := \inf_{x>0} \frac{x\psi(x)}{\Phi(x)}.$$

*Then  $H$  has the left derivative and the right derivative at 1 and  $H'_+(1) = a$ ,  $H'_-(1) = b$ .*

*Proof.* For  $t > 1$  and  $x > 0$  we have

$$\ln \frac{\Phi(tx)}{\Phi(x)} = \int_x^{tx} \frac{\psi(y)}{\Phi(y)} dy \leq \int_x^{tx} \frac{a}{y} dy = a \ln t.$$

Thus  $H(t) \leq t^a$  and from  $H(1) = 1$ , we have

$$(13) \quad \limsup_{t \rightarrow 1^+} \frac{H(t) - H(1)}{t - 1} \leq \lim_{t \rightarrow 1^+} \frac{t^a - 1}{t - 1} = a.$$

For each  $c \in (0, a)$ , there exist  $x_0 > 0$  and  $\delta > 0$  such that

$$\frac{x\psi(x)}{\Phi(x)} > c \quad \forall x \in (x_0, x_0 + \delta).$$

It is obvious that for any  $t \in (1, 1 + \delta/x_0)$ , we have  $(x_0, tx_0) \subset (x_0, x_0 + \delta)$ , and the last inequality gives

$$\ln \frac{\Phi(tx_0)}{\Phi(x_0)} = \int_{x_0}^{tx_0} \frac{\psi(y)}{\Phi(y)} dy \geq \int_{x_0}^{tx_0} \frac{c}{y} dy = c \ln t.$$

This implies

$$H(t) \geq \frac{\Phi(tx_0)}{\Phi(x_0)} \geq t^c.$$

Hence  $H(1) = 1$  yields

$$\liminf_{t \rightarrow 1^+} \frac{H(t) - 1}{t - 1} \geq \lim_{t \rightarrow 1^+} \frac{t^c - 1}{t - 1} = c.$$

Letting  $c \rightarrow a$  and using (13), we see that  $H$  has the right derivative at 1 and  $H'_+(1) = a$ . Next, we will prove that  $H'_-(1) = b$ . Indeed, for  $t < 1$  we have

$$\ln \frac{\Phi(x)}{\Phi(tx)} = \int_{tx}^x \frac{\psi(y)}{\Phi(y)} dy \geq \int_{tx}^x \frac{b}{y} dy = -b \ln t = -\ln t^b \quad \forall x > 0,$$

which gives  $H(t) \leq t^b$ . Therefore,

$$(14) \quad \liminf_{t \rightarrow 1^-} \frac{1 - H(t)}{1 - t} \geq \lim_{t \rightarrow 1^-} \frac{1 - t^b}{1 - t} = b.$$

On the other hand, for each  $d > b$ , there exists  $x_0 > 0$  satisfying

$$\frac{x_0\psi(x_0)}{\Phi(x_0)} < d.$$

So, there exists  $\delta > 0$  such that

$$\frac{x\psi(x)}{\Phi(x)} < d \quad \forall x \in (x_0 - \delta, x_0).$$

Since for  $1 - \delta/x_0 < t < 1$  we have  $(tx_0, x_0) \subset (x_0 - \delta, x_0)$ , it follows that

$$\ln \frac{\Phi(x_0)}{\Phi(tx_0)} = \int_{tx_0}^{x_0} \frac{\psi(y)}{\Phi(y)} dy \leq \int_{tx_0}^{x_0} \frac{d}{y} dy = -\ln t^d.$$

Consequently,

$$H(t) \geq \frac{\Phi(tx_0)}{\Phi(x_0)} \geq t^d \quad \forall t \in (1 - \delta/x_0, 1).$$

Therefore,

$$\limsup_{t \rightarrow 1^-} \frac{1 - H(t)}{1 - t} \leq \lim_{t \rightarrow 1^+} \frac{1 - t^d}{1 - t} = d.$$

Letting  $d \rightarrow b$ , we get

$$(15) \quad \limsup_{t \rightarrow 1^-} \frac{1 - H(t)}{1 - t} \leq b.$$

Combining (14) and (15) shows that  $H$  has the left derivative at 1, and  $H'_-(1) = b$ . The proof is complete. ■

Now we will prove Theorem 4:

*Proof of Theorem 4. Necessity.* Assume  $C_2 = 2$ ; we have to prove (12). Indeed, put  $g(t) = (1 + H(t))/t$ . Then  $g(1) = 2$  and using Theorem 2, we get  $C_2 \leq \inf\{g(t) : t > 0\}$ . So,  $g(1) = \min\{g(t) : t > 0\}$ . Since  $H$  has the left derivative and the right derivative at 1, so does  $g$ . Moreover, it follows from  $g(t) \geq g(1)$  for all  $t > 0$  that  $g'_+(1) \geq 0 \geq g'_-(1)$ . Thus

$$H'_+(1) \geq 2 \geq H'_-(1).$$

From this, by using Lemma 5, we obtain (12).

*Sufficiency.* Assuming that (12) is true, we have to show that  $C_2 = 2$ . Indeed, for all  $\epsilon \in (0, 1)$ , by (12) and the continuity of  $\psi$  and  $\Phi$ , there exists  $x_0 > 0$  such that

$$\frac{x_0\psi(x_0)}{\Phi(x_0)} \in (2 - \epsilon, 2 + \epsilon).$$

We define

$$f(x) = x_0\chi_{(0,t)}(x), \quad g(x) = \psi(x_0)\chi_{(0,t)}(x),$$

where  $t$  is chosen such that  $t\Phi(x_0) = 1 - \epsilon$ . Hence,

$$\int_G \Phi(|f(x)|) dx = 1 - \epsilon$$



and

$$\begin{aligned} \left| \int_G f(x)g(x) dx \right| &= \int_0^t x_0\psi(x_0) dx \\ &= \frac{x_0\psi(x_0)}{\Phi(x_0)}(t\Phi(x_0)) \in ((1 - \epsilon)(2 - \epsilon), (1 - \epsilon)(2 + \epsilon)). \end{aligned}$$

Thus

$$2 - 3\epsilon \leq \left| \int_G f(x)g(x) dx \right| = \int_0^t x_0\psi(x_0) dx = \frac{x_0\psi(x_0)}{\Phi(x_0)}(t\Phi(x_0)) \leq 2 - \epsilon.$$

Using Young's equality, we get

$$\int_G \Phi(|f(x)|) dx + \int_G \bar{\Phi}(|g(x)|) dx = \left| \int_G f(x)g(x) dx \right|,$$

which together with  $\int_G \Phi(|f(x)|) dx = 1 - \epsilon$  implies that

$$\int_G \bar{\Phi}(|g(x)|) dx \leq 1.$$

So, we obtain

$$\|g\|_{\bar{\Phi},G} \leq 1, \quad \|f\|_{(\Phi,G)} \leq 1, \quad \text{and} \quad \left| \int_G f(x)g(x) dx \right| \geq 2 - 3\epsilon.$$

Hence,

$$C_2 \geq \frac{\|f\|_{(\Phi,G)}}{\|f\|_{(\Phi,G)}} \geq \|f\|_{(\Phi,G)} \geq \left| \int_G f(x)g(x) dx \right| \geq 2 - 3\epsilon.$$

Letting  $\epsilon \rightarrow 0$ , we get  $C_2 \geq 2$  and so  $C_2 = 2$ . The proof is complete. ■

REMARK 1. Theorems 1–4 still hold if  $G$  is an arbitrary measurable set in  $\mathbb{R}^n$  satisfying  $m(G) = \infty$ , where  $m$  is the Lebesgue measure.

Indeed, let  $g$  be an arbitrary measurable function on  $G$ . Denote by  $g^*$  the non-increasing rearrangement of  $g$ :

$$g^*(x) = \inf\{\lambda > 0 : \mu_g(\lambda) \leq x\},$$

with  $x > 0$ , where  $\mu_g$  denotes the distribution function of  $g$  defined by  $\mu_g(t) = \mu(\{x \in G : |g(x)| > t\})$  for  $t \geq 0$ . Then  $\int_G |g(x)| dx = \int_{\mathbb{R}^+} g^*(x) dx$ . So, if  $f \in L_\Phi(G)$  then  $f^* \in L_\Phi(\mathbb{R}^+)$  and  $\|f\|_{\Phi,G} = \|f^*\|_{\Phi,\mathbb{R}^+}$ ,  $\|f\|_{(\Phi,G)} = \|f^*\|_{(\Phi,\mathbb{R}^+)}$ . Therefore,

$$(16) \quad C_1 \geq C'_1, \quad C_2 \leq C'_2,$$

where  $C'_1, C'_2$  are the best constants for the inequalities between the Orlicz norm and Luxemburg norm in  $L_\Phi(\mathbb{R}^+)$ . Moreover, for each  $\epsilon > 0$ , by (1), there exists a simple function  $f = \sum_{i=1}^k x_i \chi_{A_i} \in L_\Phi(\mathbb{R}^+)$  with  $A_i \cap A_j = \emptyset$

( $i \neq j$ ) satisfying

$$\|f\|_{\Phi, \mathbb{R}^+} \leq (C'_1 + \epsilon) \|f\|_{(\Phi, \mathbb{R}^+)}.$$

For  $i = 1, \dots, k$  we choose  $B_i \subset G$  satisfying  $m(B_i) = m(A_i)$  and  $B_i \cap B_j = \emptyset$  ( $i \neq j$ ), and put  $g = \sum_{i=1}^k x_i \chi_{B_i}$ . Then  $g \in L_\Phi(G)$ ,  $g^* = f^*$  and

$$\|g\|_{\Phi, G} = \|g^*\|_{\Phi, G} = \|f^*\|_{\Phi, \mathbb{R}^+} = \|f\|_{\Phi, \mathbb{R}^+}$$

and

$$\|g\|_{(\Phi, G)} = \|g^*\|_{(\Phi, G)} = \|f^*\|_{(\Phi, \mathbb{R}^+)} = \|f\|_{(\Phi, \mathbb{R}^+)}.$$

Therefore,

$$\|g\|_{\Phi, G} \leq (C'_1 + \epsilon) \|g\|_{(\Phi, G)},$$

which gives  $C_1 \leq C'_1 + \epsilon$ . Letting  $\epsilon \rightarrow 0$  and using (16), we get  $C_1 = C'_1$ . Similarly,  $C_2 = C'_2$ . The proof is complete.

**Acknowledgments.** Work supported by the Vietnam National Foundation for Science and Technology Development (Project N0 101.01.50.09).

### References

- [1] S. T. Chen, *Geometry of Orlicz Spaces*, Dissertationes Math. 356 (1996), 204 pp.
- [2] M. A. Krasnosel'skiĭ and Ya. B. Rutickiĭ, *Convex Functions and Orlicz Spaces*, GITTL, Moscow, 1958 (in Russian); English transl., Noordhoff, 1961.
- [3] W. Luxemburg, *Banach Function Spaces*, Thesis, Technische Hogeschool te Delft, 1955.
- [4] L. Maligranda, *Orlicz Spaces and Interpolation*, Seminars in Math. 5, Univ. Estadual de Campinas, Campinas, SP, Brasil 1989.
- [5] J. Musielak, *Orlicz Spaces and Modular Spaces*, Lecture Notes in Math. 1034, Springer, Berlin, 1983.
- [6] R. O'Neil, *Fractional integration in Orlicz space I*, Trans. Amer. Math. Soc. 115 (1965), 300–328.
- [7] M. Rao and Z. Ren, *Theory of Orlicz Spaces*, Dekker, New York, 1991.
- [8] —, —, *Applications of Orlicz Spaces*, Dekker, New York, 2002.

Ha Huy Bang, Nguyen Van Hoang  
 Institute of Mathematics  
 Vietnamese Academy of Science and Technology  
 18 Hoang Quoc Viet Street, Cau Giay, Hanoi, Vietnam  
 E-mail: hhhbang@math.ac.vn  
 vanhoang0610@yahoo.com

Vu Nhat Huy  
 Department of Mathematics  
 College of Science  
 Vietnam National University  
 334 Nguyen Trai Street  
 Thanh Xuan, Hanoi, Vietnam  
 E-mail: nhat\_huy85@yahoo.com

Received March 2, 2010;  
 received in final form December 3, 2010

(7749)